Ostwaldcolours (o)

M, max (m) chromatic
chromaticity (X, y)

o2P0 Name a

0525

Yi=100
value, P60

nd spectral range

M Rp561770 ¥,520 770

Xy=97,06,Yyy=99,99,7,,=104 57
%,=0,3218Y,,=0,3315

Ao=(ag-[ag n+ao y+ag al) Y.
Bo=(bo=[bo,+0o,y+bo,

B
94 0

Gm 475_573 (G, 380_561 ay = a0 [XIy]
38758, 380_520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4
Ao
. N
n = P60 4o 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
apy=0,000,5,y=0,000
a5,4=0,000,by 4=0,000
CIE 1931 X Ostwaldcolours (0) Y\\=100
max (m) chromatic value, P60
0,6 0,8 1,0 chromatic value Ag, Bg
CE201-1A_1 CE201-2A_1
Xu=97,06 Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%w=0,3218y,,=0,3315 1% o Xy=0,3218y,,=0,3315 E
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
a; = ay [(x-0,172/y] 64 1 2 a = ay[(x-0,17/y] 9% g
by =byo [ZA D=050 [(Mpx+bp)/Y]_or L
ap0=1, byy=-0,4 A 850= 1, byg= -0,4 2 A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 ! o2
n = P60 —40 ' ' 40 n = P60 —40 . ' 40
ay y=apy(Y/Y1g-1) ap y=apy(Y/Y1g-1) 57
by y=boy(Y/Y1g-1) 1 b2 v=boy(Y/Y1g-1) s
a,y=0,000,0,y=0,000 5 35 ay=0,000,5,y=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Yyy=100 17 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P60 5 T-40 max (m) chromatic value, P60 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
Xu=97,06.Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%y=0,3218y,,=0,3315 240 Xy=0,3218y,,=0,3315 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(D3-[b n+b3 y+b3 Al) Y 94 82 B=(D4=[byg +ba y+04 pl) Y
ag = ay[(x-0,17D/y] 2 ay =2y [(x-0,171/y] T94 g,
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ax=1, byy= 0,4 64 A a0=1, byo= 0,4 /Vm——_ 2 A
mMp;=-0,974,bp;=0,658 . . N Mp;=-0,169,0p1=0,389 . N
n = P60 —40 ' ' 40 n = P60 —40 ' ' 40
ag y=apy(Y/Y1g-1) 35 ay y=apy(Y/Y1g-1) 5
b3 y=boy(Y/Y1g-1) 5 | by y=boy(Y/Y1g-1) 17T
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
a3 4=0,000,b3 4=0,000 175 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, P60 T-40 max (m) chromatic value, P60 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE201-5A_1 CE201-6A_1
Xu=97,06.Y,~99,99.2,~10457 B, X4=97,06Y,=99,99.7,~10457 B,
%y=0,3218y,,=0,3315 240 Xy=0,3218y,,=0,3315 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y % by Bg=(Pg—[bg n+bs,y+0s Al) Y 94 gp
as=ay,[(0,86x-0,71y-0,026, e ag =y [x/y] = 42
bs=by,[(0,19x+0,38/-0,2 42 bg=b20 [(Mp1x+bp1)/y]
apy = 1,00,b, = 1,00 a0=1, byo=-0,4 &64 A
\g,G.v,R=475,503,574,494¢ E nm ) 5 ) ) 6
n = P60 _40 ) ) 40 n = P60 _40 ) 10
a5 y=apy(Y/Y1g-1) g ag y=apy(Y/Y1g~1) 35
bs y=boy(Y/Y1g~1) | 35 bg y=boy(Y/Y1g-1) 57 1
a,y=0,000,5,,=0,000 o apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 5 a5,4=0,000,b5 4=0,000 75
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P60 T-40 max (m) chromatic value, P60 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




Ostwaldcolours (o)
M, max (m) chromatic
chromatlcny (x,y)

0525

Yi=100
value, P55

Name and spectral range

Ry 561_770 ¥, 520_770
G 475_573 G, 380_561
837, 380_520 M, 573 475

Xw=97,45 Yy=100,00,2,,=95,98
%,=0,3321y,,=0,3407
Ao=(ag-[2g n+80,y*ap,Al) Y
Bo=(bo=[bo,+0o,y+bo,
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

By

Ao
n=Ps5 —40 ' ' 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
apy=0,000,b,y=0,000 5 T 36
ag =0,000,by A=0,000
1 CIE 1931 X Ostwaldcolours (0) Y\\=100 16
%00 max (m) chromatic value, P55 “—45
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE201-1A_1 CE201-2A_1
Xu=97,45Y,~100,00Z,79598 B, X4=97,45Y,=100,00Z,~9598 B,
xy=0,3321y,,=0,3407 T40 X=0,3321y,,~=0,3407 40
Ar=(ar~[ag n+ay yt+ag al) Y & Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
ag = a0 [(x-0,179y] 4 2 2y = a0 [(x=0,17D/y]
by =byo [ZA 0,=byo [(Mp1x+bp1)/y]
80=1, byp=-04 =1, by=-04 2 A
my1=1,000,bg,=0, 17,1 n 1 mp;=-0,169,bp,=0, 389 2
n=P55 _40 ! 4r0 n = P55 _40 4r0
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1) 1 . by v=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
Ostwaldcolours (0) \y=100 16 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, P55 T-40 max (m) chromatic value, P55 -40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
Xw=97,45,Y,,=100,00,Z,,=95,98 B3 Xw=97,45,Y,,~100,00,2,,=95,98 B4
xy=0,3321y,,=0,3407 +40 X=0,3321y,,~=0,3407 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 04 83 B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] 2 ay =2y [(x-0,171/y] +oa
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y] 83
ax=1, byy= 0,4 ay= 1, byy= ~0,4 —O\O\é,z A
Mp1=-0,974 bp,=0, 658 : ) 3 Mp;=-0,169,0p1=0,389 ) ) R
n=P55 ' 40 n = P55 _40 ) ) 40
ag y=ay(Y/Y1g- 1) & 3y, y=agy(Y/Y1g-1) 3
b y=boy(Y/Y1g~1 L by y=boy(Y/Y1g-1) 165 |
a,y=0,000,,y=0, ooo ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P55 T-40 max (m) chromatic value, P55 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE201-5A_1 CE201-6A_1
Xy=97,45,,~100,00Z,~9598 B, X4=97,45Y,=100,00Z,~9598 B,
xy=0,3321y,,=0,3407 +40 X=0,3321y,,~0,3407 40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y 04
a5=25,((0,86¢-0,7%y-0,026)] B3 a6 = ago [X/y]
b5=b2x[(0,19<+0,3&—0 2 . be=bz0 [(Mp1X+bp1)/y]
=1,00,by, = 1,00 850=1, byg= -0,4 A
)\B 6,v,R=475,503.574,493¢.E,nm ) 5 ) 6
n=P55 _40 ) 40 n = P55 _40 ) ) 10
a5 y=ay(Y/Y1g-1) = ag y=apy(Y/Y1g-1) 36
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 57
a,y=0,000,5,,=0,000 < apy=0,000,b,y=0,000 Ve
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P55 T-40 max (m) chromatic value, P55 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




520 Ostwaldcolours (o) Y\y=100

0,8 o1 525M max (m) chromatic value, P50
510[¢ chromatlcny (x,y)
y Name and spectral range

Nm Ry 561_770 ¥,520_770
m Gp, 475_573 G, 380_561

".\ 30°B, 380_520 M, 573_475

CIE 1931 X

0.0 400
0,0 0,2 0,4 0,6 0,8 1,0

X=98,12,Y,=100,00Z,~8650 B,
Xy=0,3447y,,=0,3513 2
Ao=(@o-[agnt80 yta0a) Y 92
Bo=(bo~[bo,ri+bo y+bo,Al) Y
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

\
n = P50 _40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1) 5
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Ostwaldcolours (0) Yy=100
max (m) chromatic value, P50
chromatic value (Ag, Bg)

CE201-1A_1

CE201-2A_1

Xw=98,12.Y,,=100,00Z,~86,50 B,
¥=0,3447y,,=0,3513
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
ay = ago [(x-0,172/y]

= by [2/]
ay=1, byp=-0,4
m71=1,000by;=0,171 \ \
n=P50 —40 40
ay,y=ay(Y/Y1g-1)
by y=boy(Y/Y1g~1) 37
ay=0,000,b,,=0,000
a3 4=0,000,b; 4=0,000
Ostwaldcolours (o) Yyy=100

Xu=98,12,Y,~100,002,~86,50 B,
X=0,3447y,,=0,3513 g
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y

ay = a0 [(x—0,17D/y] i
=bs0 [(Mpx+bp1)/Y] P2
ay=1, byp=-0,4

n=P50 _40

a5 y=agy(Y/Y1g-1) 2

03 y=boy(Y/Y1g-1) 19]
a,y=0,000,b,y=0,000

ap o=0,000,b, ,=0,000

Ostwaldcolours (0) Yy\=100

Mp1=-0,169,bp;=0, 389\8\; \

max (m) chromatic value, P50 T-40 max (m) chromatic value, P50 T-40
chromatic value A4, B;) chromatic value (A,, Bo)

CE201-3A_1 CE201-4A_1
X,=98,12,Y,,=100,007,786,50 B, X,=98,12,Y,,=100,00Z,786,50 B,
Xy=0,3447y,=0,3513 40 X=0,3447y,,=0,3513
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = a0 [(x-0,179/y] 80 a4 =350 [(x=0,179)/]
b3=byo [(Mp1x+bp1)/y] 42 =50 [(Mp1x+bp1)/Y]
ay0= 1, byo=-0,4 & A ay0=1, byy=-0,4
mMp1=-0,974,0,=0.658 . \ 3 Mp;=-0,169.bp;=0,389 M
n=P50 —40 ' - 40 n = P50 —40 ' ' 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 3
b y=boy(Y/Y1g-1) 5 S by y=boy(Y/Y1g-1) 194
2,y=0,000,b,,=0,000 19 a,y=0,000,b,,=0,000
ag A=0,000,b3 ,=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P50 T-40 max (m) chromatic value, P50 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

CE201-5A_1 CE201-6A_1
X,=98,12,Y,,=100,007,786,50 B, X,=98,12,Y,,=100,00Z,786,50 B,
Xy=0,3447y,=0,3513 X0 X=0,3447y,,~0,3513 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=a,[(0,86x-0,7y-0,026)§] 92 lgo ag = 350 [X/Y] 92 180
b5=b2x[(0,19<+0,3&—0,24 be=b,0 [(Mp1x+bp)/y] 42

=1,00,b, = 1,00 $2 A a0=1,bo=-04 o A

)\B 6,v,R=475,503,574,490¢.E nm \ 5 \ \ 6
n = P50 _40 ) 40 n = P50 _40 ) - 10
a5 y=apy(Y/Y1g-1) 5 37 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 57
ayy=0,000,b,,=0,000 197 7 a,y=0,000,b,,=0,000 19
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P50 T-40 max (m) chromatic value, P50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




515 520 505 Ostwaldcolours (l_)) Y~=100 Xw=99,20,Y,,~100,00,2,,=76,07 BD
08 17 e Mme ) e T
cl , =]
y N Name and spectral range étg;o_{zg":zgvizgﬂi i 84 82
m Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
84Lm G, 475 573 G, 380 561 ag = ao [x/y] 4L @
§3B, 380_520 M, 573_475 bg = bao [2M) 61
J ay =1, byp=-0,4 A
1 1 1 Lo
n= P45 -40 ' ' 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1) 5 1 &
a,,=0,000,5,,=0,000
30,4=0,000,by 4=0,000 17 15
CIE 1931 X Ostwaldcolours (0) Y\\=100
max (m) chromatic value, P45 T-40
0.8 10 chromatic value Ay, Bg)
CE201-1A_1 CE201-2A_1
X,=99,20,Y,,=100,002,~76,07 B, X4=99,20,Y,,~100,007,76,07 B,
Xu=0,3603y,,=0,3632 E Xw=0,3603y,,=0,3632 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y 84 82 Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] 4
by =byo [ZA 61 2 =bs0 [(Mpx+bp1)/Y] 84 82
ay0= 1, byo= -0,4 A ay0=1, byg=-0,4 2 A
mp1=1,000,bp;=0,171 , , il Mp;=-0,169,bp;=0,389 , ) 2
n=P45 —40 ' ' 40 n=Pp45 —40 = . ' ; 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) 5 & by v=boy(Y/Y1g-1) 7 15
,,=0,000,5,,=0,000 T a,,=0,000,5,,=0,000 T
ay 4=0,000,; 4=0,000 17 15 a, x=0,000,b; ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, P45 T-40 max (m) chromatic value, P45 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
X,=99,20,Y,,=100,002,~76,07 B, X=99,20,Y,~100,007,76,07 B,
Xy=0,3603y,,=0,3632 X0 Xw=0,3603y,,=0,3632 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] 1 8 ay =2y [(x-0,171/y] AL
b3=byo [(Mp1x+bp1)/y] & /_0\412 =50 [(Mp1x+bp1)/Y] 84 82
ay0= 1, byo= -0,4 ay0=1, byg=-0,4
mp1=—0,974,bp,=0,658 61 ) '633 mp1=-0,169,bp1=0,389 ) —\NQZ '634
n=P45 40 ' 38 40 n=P45 -40 5"7\‘\ WS
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) >
b y=boy(Y/Y1g-1) 5 15 by y=boy(Y/Y1g-1) 15
,,=0,000,5,,=0,000 17 T a,,=0,000,5,,=0,000 T
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P45 T-40 max (m) chromatic value, P45 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE201-5A_1 CE201-6A_1
X,=99,20,Y,,=100,002,~76,07 B, X=99,20,Y,,100,007,=76,07 B,
Xy=0,3603y,,=0,3632 X0 X=0,3603y,,=0,3632 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=8,,{(0,86x-0,71y-0,026)4] g4 +82 g = a0 [X/y] 182
bg=bs,[(0,19+0,38/-0,240 be=bgo [(Mprx+bpp)y] 84 42
a5, = 1,00,b, = 1,00 {G%Of’ﬂ\o\g ay0=1, byg=-0,4 / A
Ag.6.v,R=475,503,574,494¢ E,nm ) o 6L ) 6
n=P45 _40 ) ) 40 n=P45 _40 ) T 2g ™0
a5 y=agy(Y/Y1g~1) 57 38 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 57 15

ay=0,000,6,,=0,000
a5 4=0,000,b5 5=0,000

Ostwaldcolours (o) Yyy=100

max (m) chromatic valu:
chromatic value (Ag, Bs)

e, P45

17

a,y=0,000,b,y=0,000

ag o=0,000,b5 ,=0,000
Ostwaldcolours (0) Yy=100
max (m) chromatic value, P45
chromatic value (Ag, Bg)

r—40

CE201-7A_1

CE201-8A_1




515 520 525 Ostwaldcolours (o) Y\y=100 X,=100,93,Y,,=100,00,2,,=64,68 BD
0,8 1/ ° M max (m) chromatic value, P40 X=0,3799y,,~0,3764 T40
510[¢ chromatlcny (x,y) A= +an o Y
y Name and spectral range BO-EED {Zg "+§g ngg ﬂ% Y
Ry 561_770 ¥, 520_770 O \R0T o Y 78 83
Lm Gy 475 573 G, 380 561 89 = 850 [x/Y] +
yam 380_520 M, 573 475 by = bao [2/4] % 43
ay0=1, byg=-0,4 A
+ t t #0
n = P40 -40 40
Q628 ag,y=ay(Y/Y1g-1) 39
93950, b y=bay(Y/Y1g-1) 56
a,,=0,000,5,,=0,000 I 21
a9 4=0,000,b5,4=0,000 B
. CIE 1931 X Ostwaldcolours (0) Y\\=100
0 max (m) chromatic value, P40 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag, Bg
CE201-1A_1 CE201-2A_1
X,=100,93,,100,007,64,68 B, X,=100,98,,~100,007,6468 B,
Xu=0,3799,,=0,3764 E Xw=0,3799y,,=0,3764 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 83 Bo=(by=[by +bs y+0y Al) Y
ay =y [(x-0,171/y] JL 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] % 3 bo=boo [(Mpax+bp)ly] 78 83
ay=1, byp=-0,4 ay=1, byp=-0,4
My;=1,000by; =017 , , il Mp;=-0,169bp1=0.3 \o\.f’ '632
n=P40 —40 ' ' 40 n= P40 -40 55 ' D4'o
ay,y=ay(Y/Y1g-1) 39 a5 y=agy(Y/Y1g-1) 16 %
by v=boy(Y/Y1g-1) S 1 03 y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 21 a,,=0,000,5,,=0,000
a3 4=0,000,b; 4=0,000 B a 4=0,000,b,,4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
X,=100,93,,100,007,=64,68 B, X,=100,98,,~100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 Xw=0,3799y,,=0,3764 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ayq [(x=0,171)y] + &3 ay = ay [(x=0,17D/y] 1
b3=byg [(Mp1x+bp1)/y] 43 bs=byo [(Mp1x-+bp1)/y] 78
a0= 1, byp= 0,4 i a90= 1, byg= ~0,4 8
20 = 0=~ 20 =1, byo =~
Mp1=-0,974,0p; 0,658 pe/pO/ : Ay Mp1=-0,169 bp;=0,369 ) _\0,\4.3 Ay
t b t t b
n = P40 —40 /.3% 40 n=P40 —40 M [ 4o
a3 y=ay(Y/Y1g-1) 21 3y, y=agy(Y/Y1g-1) 16 o
b3 v=b,y(Y/Y1g-1) 5% % 1 by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE201-5A_1 CE201-6A_1
X,=100,93,,100,007,64,68 B, X=100,93,,=100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 X=0,3799y,,=0,3764 240

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y

a5=2,,{(0,86¢-0,71y-0,026)§] 1

n= P40
a5 y=ay(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
a,y=0,000,b,y=0,000

a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Yyy=100

—40
56

max (m) chromatic value, P40
chromatic value (Ag, Bs)

b5=bzx[(0,19x+0,3&—0,240) 8
=1,00,b5 = 1,00 \0\\
)\B 6.v R=475,503,574,49%¢.E, nm

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y] i
bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4

1 60 1

n=P40 40 '

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1) 56 6.
ay=0,000,b,y=0,000

a5,4=0,000,b5 4=0,000

Ostwaldcolours (0) Yy=100
max (m) chromatic value, P40

21

r—40

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




515 520 525 Ostwaldcolours (o) Y\y=100 X,=103,66,Y,,=99,99,7,,=52,43 BD
08 1/ ° M rr;1ax (mz chromatic value, P35 Xw=0,4047y,,=0,3904 +40
510/ M chromaticity (x, =]
y t);\lsam? and spectral range Ao:(ao_[ao'"+ao'v+ao'A]) M
Ry 561 770 ¥, 520_770 B=(00~[0,n+Do,v+00,1) Y
m " ' —
Lm Gm 475 573 G, 380_561 ag = ao [x/y] o 4 85
o geBm 380_520 M, 573_475 bo =bso [2/4] 44
a=1,byp=-04 &59
1 1 1 Lo
n=pP35 —40 ' ' 40
Q628 ag,y=ay(Y/Y1g-1) 5 40
9395¢,E bo,y=bav(Y/Y1g-1) J 27
a,y=0,000,b,,=0,000 14
a9 A=0,000,by ,=0,000
! CIE 1931 Ostwaldcolours (0) Y\\=100
0 max (m) chromatic value, P35 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bg)
CE201-1A_1 CE201-2A_1
X,,=103,66)Y,,=99,99.Z,752,43 B, X,=103,66)Y,799,99.,75243 B,
Xy=0,4047y,,=0,3904 E Xw=0,4047y,,=0,3904 10
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
ay = ayo [(x-0,17D/y] 4 85 ay = a0 [(x—0,17D/y] 4
=hyo[2/M] 2 4 bp=bg0 [(Mpx+bpN] - 4,
ay =1, byy=-0,4 B9 A ay=1, byy=-0,4 85 A
mr;=1,000b;=0,171 \ \ 1 Mp;=-0,169.bp;=0,3 N 2
n=P35 —40 ' ' 40 n=P35 —40 5‘,’5\,\ i ;)4'0
ay y=agy(Y/Y1g-1) 5 40 3 y=agy(Y/Y1g-1) 14 27
by v=boy(Y/Y1g-1) 1 27 03 y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 14 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yyy=100
max (m) chromatic value, P35 T-40 max (m) chromatic value, P35 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
X,=103,66)Y,,=99,99.Z,752,43 B, X,=103,66)Y,,799,99.7,75243 B,
Xy=0,4047y,,=0,3904 X0 Xw=0,4047y,,=0,3904 g
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,172/y] T ay =2y [(x-0,171/y] g

b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

n=P35 _40

a3 y=ay(Y/Y1g-1) &

b y=boy(Y/Y1g-1) 14
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Ostwaldcolours (o) Yyy=100

72
Mp;=-0,974,bp;=0,658

bs=byq [(Mp1x+bp1)/y] 72
ay =1, byp=-0,4
mp=-0169bp:=0389 [

n=P35 40 55— |

3y, y=agy(Y/Y1g-1)

by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

a4 4=0,000,b; 4=0,000
Ostwaldcolours (0) Yyy=100

14

max (m) chromatic value, P35 T-40 max (m) chromatic value, P35 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

CE201-5A_1 CE201-6A_1
Xy=103,66,Y,,=99,99,7,,=52,43 B5 X,~=103,66,Y,,=99,99,2,,=52,43 BS
X, =0,4047y,,=0,3904 +40 X=0,4047y,,=0,3904 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+05 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
as=ay,((0,86x-0,71y-0,026)y] 4 ag =y [x/y] 4
bs=b2x[(o,19x+o,38/—o,240)@ 85 be=bzo [(Mp1x+bp1)/¥] 53 44

=1,00b, = 1,00 %gr"‘o\ﬁ A a0=1, bpo=-04 72 ‘o_\\A

)\B 6,vR=475,503,574.494C.E, nm ) 5 o , 6
n=P35 _40 \/JQ} 40 n=P35 —40 T 21
a5 y=apy(Y/Y1g-1) 55 ag y=apy(Y/Y1g~1) 27

bs y=boy(Y/Y1g~1) 1
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Ostwaldcolours (o) Yyy=100

max (m) chromatic value, P35
chromatic value (Ag, Bs)

b, y=boy(Y/Y1-1) 9
a,y=0,000,b,y=0,000

ag o=0,000,b5 ,=0,000
Ostwaldcolours (0) Yy=100
max (m) chromatic value, P35
chromatic value (Ag, Bg)

r—40

CE201-7A_1

CE201-8A_1




520 Ostwaldcolours (o)

Yw=100

X,=108,04,,~100,00Z,~39,55 B,

515 Xy 525 ¢
08 77 Mmae:;ggziggcgayt)lc value, P30 X=0,4363y,=0,4038 +40
y 2P0 Name and spectral range QO_EZO_FO'":BO'V:BOﬂi i
Ry 561_770 ¥, 520_770 Ul Do,ritho,v+by,
Lm Gy 475 573 G, 380 561 ag = ao [x/y] T a7
Sy P 380 520 M, 573_475 bg = bao [2M) 66 m
S ay =1, byp=-0,4
57 A,
+ t »
X n=P30 -40 42 $40
1N 525, aoy=apy(Y/Y1g-1) 55 %
%3950 E b, y=boy(Y/Y1g-1) 12 ]
ay=0,000,b,y=0,000
a9 4=0,000,b5,4=0,000
' CIE 1931 X Ostwaldcolours (0) Y\\=100
0 max (m) chromatic value, P30 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bg)
CE201-1A_1 CE201-2A_1
X,=108,04Y,,=100,00,~39.55 B, X,=108,04Y,,=100,00Z,~39.55 B,
¥y=0,4363y,,=0,4038 40 %y =0,4363y,,=0,4038 00
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
3y = ay[(x-0,17Dh] - g7 a =2y [(x-0,171)/y] AL
by =byo [ZA 66 =bs0 [(Mpx+bp1)/Y]
ap0=1, byy=-0,4 40\4’4 a00=1, byg=—-04 66 87 A
mn=1,000b=0,171  $°7 \ M Mp;=-0,169,bp1=0.3 44 1o
n=P30 —40 ' 4 40 n=P30 —40 55 0
ay,y=ay(Y/Y1g-1) 55 & a y=ayy(Y/Y1g-1) 12 33
by y=boy(Y/Y1g-1) 12 b2 v=boy(Y/Y1g-1)

a,y=0,000,b,y=0,000
a; 4=0,000,b; 4=0,000
Ostwaldcolours (o) Yyy=100

a,y=0,000,b,y=0,000
ay 5=0,000,b, 5=0,000
Ostwaldcolours (0) Yyy=100

max (m) chromatic value, P30 T-40 max (m) chromatic value, P30 T-40
chromatic value A4, B;) chromatic value (A,, Bo)

CE201-3A_1 CE201-4A_1
X,=108,04Y,,100,007,39.55 B, X,=108,04Y,,100,007,~3955 B,
Xy=0,4363y,,=0,4038 +40 X=0,4363y,,~0,4038 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bg~[bg ntb3 y+b3 Al) Y B,=(b4=[Dg 04 y+04 Al) Y
a3 = a0 [(x-0,172/y] + ay = a0 [(x-0,172/y] +
b3=hy [(Mp1x+bp1)/Y] 87 44 b= [(Mp1x+bpy)/y]
ay0= 1, byo=-0,4 - A ay0=1, byy=-0,4 66 87 A
Mp1=-0,974,b;=0,658 3 Mp1=-0,169,bp;=0,389 EE’ 44
n=P30 -40 33 40 n=P30 -40 55 40
ag y=agy(Y/Y1g~1) = ay y=ayy(Y/Y1g-1) 12 33
b y=boy(Y/Y1g-1) Lol by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yyy=100
max (m) chromatic value, P30 T-40 max (m) chromatic value, P30 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

CE201-5A_1 CE201-6A_1
X,=108,04Y,,100,007,=39.55 B, X,=108,04,,=100,007,=3955 B,
Xy=0,4363y,,=0,4038 X0 X=0,4363y,,=0,4038 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
85=8,,{(0,86¢-0,71y-0,026)$] + g = a0 [X/y] +
b5=b,,{(0,19x+0,38/-0,240)4] bg=hy0 [(Mp1x+bp1)/y] 87 44
age = 1,000y, = 1,00 & a0=1,bxo=-04 A
Ab.6.y R=475,503,574 AR, nm ‘o\q s 5
n=P30 _40 = . ) 42 > 40 n=P30 —4 3340
a5 y=ay(Y/Y1g-1) 12 33 ag y=apy(Y/Y1g-1) =
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) 12 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P30 T-40 max (m) chromatic value, P30 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




515 520 505 Ostwaldcolours (l_))

7 M, max (m) chromatic
chromaticity (X, y)

2P0 Name a

Yi=100
value, P25

nd spectral range

R 561_770 Y, 520_770
m Gp 475 573 G,380_561
7513,,. 380520 M, 573 475

CIE 1931 X

X,=115,18,,~100,00Z,~26,59 B,

X=0,4764y,,~0,4136 140

Ag=(ag=[ag n*ag,y*ap,al) Y

Bo=(bo~[bo,ri+bo y+bo,al) Y

29 =ago [x/y] +

b = byo [z 91

app=1, byo=-04 61 46
Kt R )

n= P25 -iob\'+’_))4b

dy=apy(Y1g-1) 53 38

b, y=boy(Y/Y1g-1) 3

a,y=0,000,b,y=0,000
2y 5=0,000,by x=0,000
Ostwaldcolours (0) Yy=100

'” max (m) chromatic value, P25 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
CE201-1A_1 CE201-2A_1
X,=115,18),,100,00Z,726,59 B, X,=115,18)Y,,7100,00Z,2659 B,
Xy=0,4764y,,=0,4136 T40 X=0,4764y,,~0,4136 =40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
a1 =ay[(x-0,179H] + 8 = a9 [(x-0,179/y] +
by = by [z 91 =020 [(Mp1X+bp1)/y]
ay0= 1, byo=-0,4 61 ——o\#s ay0=1, byy=-0,4 o1
my1=1,000,b5;=0,171 655/_ ) A:1 mp1=-0,169,bp=0,3 6P
n=P25 _4 ' ’ f n=PpP25 -4053
P 40 | 2P 40 P 4o p 0
ay y=agy(Y/Y1g-1) 53 38 A y=aoy(Y/Y1g-1) 38
by y=boy(Y/Y1g~1) & 1 by v=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P25 T-40 max (m) chromatic value, P25 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE201-3A_1 CE201-4A_1
X,=115,18),,100,00Z,726,59 B, X,=115,18)Y,,=100,00Z,2659 B,
Xy=0,4764y,,=0,4136 L40 X=0,4764y,,=0,4136 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] /3 =50 [(Mp1x+bp1)/Y]
ax0=1, byg= 04 91 A a=1, byy=-04 61 91 A
Mp;=-0,974,bn,=0,658 61 3 Mp;=-0,169,bp;=0,389 gfﬁ_,?_._ 46 ‘M
n=P25 —40 38 40 n=P25 -40 53 40
a3 y=ay(Y/Y1g-1) 53 8 3y, y=agy(Y/Y1g-1) 8 38
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
a3,4=0,000,b3 4=0,000 a,,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P25 T-40 max (m) chromatic value, P25 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE201-5A_1 CE201-6A_1
X,=115,18)Y,,100,00Z,726,59 B, X,=115,18)Y,,=100,00Z,2659 B,
X, =0,4764y,,=0,4136 +40 X=0,4764y,,~0,4136 +40
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
as=ay,[(0,86x-0,71y-0,026)§] —+ g = a0 [X/y] —+
bs=by,[(0,19x+0,38/-0,240)§] bg=b20 [(Mp1x+bp1)/Y] /13
ap = 1,00,0p,=1,00 61 91 6 A 3,0= 1, byp= -0,4 91
Ag.cyR=475,503574 46RFE M [ O ——@ /15 61 gl
n=PpP25 40 55— A4 40 n=Pp25 _4'@5 ) : 384
a5 y=apy(Y/Y1g-1) 8 38 a6 y=agy(Y/Y1g~1) g3 P
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P25 T-40 max (m) chromatic value, P25 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE201-7A_1

CE201-8A_1




